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VTS KNOWLEDGE ORGANISER Year 4

Fraction Decimal Equivalence Geometry
1/10=0.1 4/10=0.4 7/10=0.7 10/10=1 %=0.75
2/10=0.2 5/10=0.5 8/10=0.8 %=0.5 1/100 = 0.01 4cm The distance
3/10=0.3 6/10 = 0.6 9/10=0.9 %=0.25 23/100 = 0.23 Perimeter 3cm 3cm around the
outside of the
Roman Numerals Coordinates 4cm shape.
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Triangles Quadrilaterals
Angles Multiplication Tables
An Acute Angle is less than 90° Te 2 e Foursides
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'o° Obtuse Angle Sizes.
U 43 42 84 77 kS A triangle with e Four sides
- g 10 ® | arightangle. . " e Pairs of adjacent sides equal
E 7 8 56 48 96 88 < ~ Canbe £ e Angles where adjacent sides meet
% 1812 to 3592 / 5 isosceles or are equal
E 9 63 54 108 99 x scalene. A ; C e Diagonals intersect at right angles
This is a reflex angle
10 70 60 120 | 110
c Place Value Grid
= 3602 11 77 66 132 | 121
= 360° thousands | hundreds tens ones tenths hundredths
L 84 72 144 1132 Numeral 1000 100 10 1 [ ) 0.1 0.01




